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R :HH05F05H17H
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K % Bl fHiE | FAf GR HDCP NET e
LY/ ) v 39 38| 77| 2.0 |75.0 | AE
HA FAa 43 41| 84| 8.0 76.0 AE
WH —F 41 44 | 85| 9.0 76.0 AE
REF IEA 42 44 | 86 [10.0 |76.0
ai B 43 45 | 88 |12.0 |76.0
na 82 41 47 | 88 |12.0 |76.0
FE EIN 44 42| 86| 9.0 |77.0
alE E = 41 46 | 87 |110.0 |77.0
M) mE 41 43| 84 | 5.0 |79.0
g8 E— 42 46 | 88 | 6.0 |82.0
AH i 47 46 | 93 |11.0 [82.0
BR {&BH 44 50 | 94 |12.0 |82.0
E F 41 44 | 85| 2.0 |83.0
KIN - B— 46 49 | 95 [12.0 |83.0
RE Bt 46 48 | 94 110.0 [84.0
AH 8= 48 45| 93 | 8.0 |85.0
MHE #BX 48 47 | 95 [10.0 |85.0
5 B 47 45| 92 | 6.0 |86.0
E£H A 47 46 | 93 | 7.0 |86.0
R & 58 42 1100 [11.0 |89.0
EHABK [BOSX]

K % B B 3R GR [HDCP NET eSS
TE E8 41 43 | 84 |17.0 |67.0 AE
®EE 1A 41 44 | 85 (17.0 |68.0 AE
B BEA 43 43 | 86 |17.0 |69.0 AE
®E BE— 46 47 | 93 |18.0 |75.0
R HREE | 46 46 | 92 |16.0 |76.0
EHE 44 47 | 91 |14.0 |77.0
af ER 46 45| 91 [13.0 |78.0
mWFr 48 47 | 95 [17.0 |78.0
ER B2 46 46 | 92 [13.0|79.0
AN BR= 48 48 | 96 [16.0 |80.0
FH = 50 50 |100 |16.0 |84.0
ity = 51 50 |101 |17.0 |84.0
"R BEH 56 54 (110 |15.0 |95.0

EHAH/IM [(COZXR]
[I=tiv K % Bt fHiE | FAh| GR HDCP NET e
HE MA |53 42 | 95 /40.0 |55.0 AHE
#E FH BX 47 46 | 93 [20.0 |73.0
3 ] 60 54 (114 [23.0 |91.0




